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Cou'se Code: MEDLOB0,+1

Tinr: 2.30 FIrs

1.
Choose the correct option for folloning questions. All the Questiors are
comprdsory and calry equal marks

1 Punped storage plant in connection )vith tlremral poi,ver plant is rsed to take....
Option A: No load t,t. 
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Option B:
Option C: peak load

Optbn D: Eqrul load ::, ,."t,..;:::,-ii.'j,,.i::,.iq";l ,.,rr *' :i. r1,:

.'r

2. What b tlre principle of opcratior: of stearn powcr phnt?
Option A: eanmaarE 

-

Option B: '.. ,l

Ontion C: Brayton cycle ;;.- 1';--r: s !rrlr i':l

Ootion D: Stirling cycle
,::' 
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-). In combined GT-ST pla:rt no nrechanical draugiu sryply rpeded because.

Ontion A: firnace gas pressure is LOW
Option B: furnace ps prcssure is high l:.
Opticn C: induced or forced drauglrt ls not possftrle ::),

Option D: it will increase tlre cosl'
..!- i.: .l

4. Stun of maxiniurn denrards on fiausfunrrers to tlre maximum OernrOs is oat,O as
Option A: Dennrd frctor
Option B: 'Dii- i5ii11t:'gar116J-'.-- ," . 
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Cption C: .,Use--fiotor. ii". f..,:."]''i , -';t".,::';.:.- .....

Option D:

5 Boron or cadmiur! useC to control the chain reaction by absorting iequhed neutron h
nrcbar reactor are called as

uptrcn A: lnrodgrator ',,

uptlon B:

Option C: Control rods
Option D: , refuctorS

6, Direct ruroff constitutcs of
Option A: Surfice nuroff ard infiltration
Uptlcn B:

optton (-: Surfice nuroff arxi prompt inter florv arrd charrnel precipitation
Uptron tl: Overhnd flow

1 What is the nanre ofleading lryciroelectrc pow'er statbns instatte<i in ltfiaf
Option A: Ktuxlanrkulam
Optiln B: 11'alapakkam
Option C-: Narora
Uptron D: Bhakra Nangal
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Methodryhig-8.

Option A: uuut acccterators
tift trucks

-

towcr cranes

after generator

Opticn B:
Option C:
Option D:

9.

Option A:
Option B:
Option C:

Option D; at arry place

10.

Option A:
Option B:
Option C:
Uptnn D: KJ

..'\
;.1

'-\

Isentropic efliciency of conpressor - rl.g5

fyrrroplc eftieryX of turbine :0.90
Mass florv rate of air : 100 kg/scc
C.V of fi.lel = 44500 ictike

Inlet conditbns to hrbine :20 bar. 250.C
Condense pressure : 0.1 bar
Tenrperahrre ofps leavlng tothe chinmey fiom HRSG :200"C
Frnd the following
l. Power output and gas turbine cycle efliciencv.
2, fuiass flow rate of fircI and A:F ratio
3. Ar:rgq1t of stem generated in
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4. Rankine cycle power output and efficiency.
5. Overall power output and efficiency of combined plant.

Assurne Cpg: Cpa: 1.05 kJ/.kg y : 1.4 both for air and gas.
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A Solve anyTrvo 5 marks each

i What is radioactiviry and radioactive dccay'.)

1r. Discuss Rankine cvcle u'ith the heb of sclrenratic (T-S) and (h-s) Diasarl
iii i) Explain Fluitlbed bed conrbustion

B Solve any One , '.i'.. '' 10 markS each ..,,' ' 
..

i. The data
the size r

of nonthly fow for [.del p,lant at a site ft
rf reservoir and possfule rate of avaibble f

Month
I 6 7

2 4
3 5.4 9 :p.',..'.:;.' .,.i"',

4 2 TU A,

5 1.5 It. :
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